PLANETARY GEAR BOX

AE/AFZ 7
=ia E1T2R0EN

< MATIE



AE/AF R iRE
AE/AF SERIES GEAR BOX

M 23R E Sectional Drawing

2 M dv/av

@ 9 @ Hit%h Output shaft
(0] e @ Bz Front cover
6 ® jHET Oil seal
@ HyH4hBTAHE Output shaft front bearing
(4] ® 7B Planetary gear
® (3] ® HH3A/E3H7 Output shaft rear bearing
@ IS Front cover
(/] (1) &= Rear cover
© K% Solar wheel
@ BX4mEsshR Coupling
@ EX4HhES Coupling
© IEFECEBHIAZ Rear cover

S31¥3S 4v/3v

P03

B =55 . YEEHRIRIEAB Type And Model Number
AE/FIEEH]l, AE/F Reducers ‘ {RARERH, Servo Motor
60 AE/F 10 () (S) - 400 T1
“@ @ @ @ 6 ® @

@ IREAALEES: 060 Gear head frame size: 060

ERNRFIS: Gear head series code:
@ AE EREE=RT Round mounting flange series

AF: FRIFEZRS Square mounting flange series
@ FEEE: 10 Gear ratio: Single stage 10

HLEES: Cabin seat ¥ Series FREEES (SR8 ) Standard (omitted)
60AE/F
#5FE Accuracy

AR AT R A BT I RERT = 3%ATHIE

N o|N|lowo

1
2
1
2
1
2

Output shaft load value at =3% of allowable output torque 90AE/F
120AE/F

T NGB Input shaft type

S: BRI (Bl ) (TiCDIAREAEEEa A ) S: Overall locking (Omitted) (Can be used regardless of whether the motor has a keyway)
® S1: FHMERGE ( LI DIAE R B EEREEA ) S1: Locking with locking ring (Can be used regardless of whether the motor has a keyway)

S2: FHREEIE (N ) $2: Lock with keyway (Input shaft with key)

K: T K: With keyway

A: EhiEHCES (1B TALEERR ) A: Other adapters (Please contact us)
® ERFARDIAIIRW) Applicable servo motor power (W)

@ BNE=SERBHINMNRTIE () Corresponding dimension table of input flange and servo motor ( )




AE/AF R25F521T 2 miEN
AE/AF PLANETARY GEAR BOX

M % AR %%} Dimensional Drawing

>
il
>
M
R
5

= ERBYS Product type 60 90 120 JHIZEEY, Reduction ratio %4 Series
34 85 144 3
33 95 200 4
38 105 220 5 1
36 93 200 7
30 83 180 8
> 26 70 155 10
m 48 115 209 12
:; 48 115 209 15
T . 47 130 275 16
i} HHA%E Rated output torque N.M
wn = P a 47 130 275 20
m 50 135 280 25
E 45 120 260 32
m 45 125 265 35 2
43 115 245 40
50 (85) 280 50
37 83 180 64
32 83 180 80
Po4 29 73 165 100
5ap life /\BT Hour 20000
538]2=H4E Instant emergency stop torque N.M USEREH I8 2 times rated output torque
FEERELS Product type 60 90 120 EA{S7 Company Z2¥ Series
B AIR[EF] Radial force 750 2100 2520 N -
B AHE]] Axial force 375 1050 1260 N -
[T . =97 1
EERIER Full load efficiency %
=94 2
0.9 25 6.5 1
EE Weight Ki
= e 12 3.0 72 g 2
T{FIRE Operating temperature -10~+90 °C B
{R4PZELR Protection level P65
8752 Lubrication method #2555 Lifetime lubrication
LT Installation method {E= Any

BARADSRAMES , HH100RPMAT , {ERTFHEHiAP OIS (L/2)4k,

Maximum radial force and maximum axial force, when the output is T00RPM, it acts on the center position (L / 2) of the output shaft.



AE/AF 255% 17 E R
AE/AF PLANETARY GEAR BOX

4v/3av

M A Z %} Dimensional Drawing ';?
FEERELS Product type 60 90 120 JRIEEL Reduction ratio ¥ Series
0.15 0.69 2.94 3
0.12 0.50 2.27 4
0.10 0.46 2.10 5
0.10 0.42 2.00 7 !
0.10 0.42 2.00 8
0.09 0.39 1.90 10 >
ot 20 e E m
e et , 0.06 0.32 111 16 %
HERNEE Moment of inertia Kgem 005 029 0.99 2 o
0.05 0.29 0.98 25 m
0.05 026 0.89 32 A
0.05 0.26 0.89 35 2 m
0.05 0.26 0.89 40 2
0.05 0.26 0.89 50
0.05 0.26 0.89 64
0.05 0.26 0.89 80 ——
0.05 0.26 0.89 100 P05
= EREYS Product type 60 90 120 RE Series
s arcmin <5 <5 <5 12% One series
IEVFEIRIfE Backlash Flvay <8 <8 <8 2% Two series
HHH5N4E Torsion resistance N.M/arcmin 1.8 4.5 12 -
175 Noise dB(A) 63 -
ESm LS Output speed min’ 4500 4500 4500 -
HEFZEINEEIE Recommended input speed min’ 3000 3000 3000 -

1. BEEINBESHNIMAEX, Moment of inertia is related to input shaft.
2. IEEAE | BB Im , TEMINEEIR300045 /95 5T MI4S, Noise detection standard, distance 1m, measured at input speed of 3000 rpm with no load.



AETERIZEN S
AE PLANETARY GEAR BOX-MECHANICAL PARAMETER

Il R <FE& Dimensional Drawing

i85 Output 8 NInput
L1
Q3
L2 L3 L4
s o,
m Y B
> L6 <£ \
M e h
o 88 5 8t 2 8
A L10 O .
m <
v
L9 \
4-G1
P06
B R <% Dimensional Table (£ f57Unit: mm]
FEERELS Product type 60AE 90AE 120AE
2 E7 Number of stage 1 2 1 2 1 2
L1FB{KRSUS L1 overall length 116 126 151 165.5 196 207
L3FEAISEE L3 body length 57 67 71.3 91.8 93 104
it Output
L4 L4 output shaft length 35 40 55
L5HHAHHSZ4M/E L5 output length to the shaft shoulder 305 36 50
L6HE<RE L6 key length 25 28 40
L75EZ=4ZRIRIS LT key length to shaft end 2.5 4 5
L8 & E42 L8 spigot length 3 3 4
D4H4MER D4 output shaft diameter ®14h7 ®20h7 ®25h7
D54MEE{R Db shaft shoulder diameter ®20 30 40
D6ERIEER D6 spigot length ®40h7 ®60h7 ®80h7
D74E{KE42 D7 body diameter D61 ®90 ®115
D8Z%EF,557R[& D8 hole circle ®52 70 ®100
B1$#%E B1 key width 5 6 8
H1%2% H1 key height 16 225 28
G2Ze 284 F(, G2 mounting screw hole M5X10 M6X12 M10X16
G3HR MESIFL G3 center screw hole M5X15 M6X18 M10X22
NI Input
L2 NI E=1<E L2 input flange length 24 33.7 48
LOERHL4MIE L9 motor shaft length 30 40 58
L10FERIM AR L10 spigot depth 10 10 10
D1%%£F 1,53 %5[E D1 mounting hole distribution circle 70 @90 ®145
D2EMYEETR D2 spigot diameter ®50G7 ®70G7 ®110G7
D3I \$H4H7= D3 input shaft diameter <14G7 <19G7 <24G7
G122 FLXGRRE G1 mounting threads X depth M4X10 M5X12 M8X21
Q3EIANE= Q3 input flange 160 180 130




AF{TEREN - S

AF PLANETARY GEAR BOX-MECHANICAL PARAMETER

4v/3av

B R T B Dimensional Drawing ;?
g Output i NInput
L1
03
L2 L3 L4
D8 L1 Ls /0—1
o W /g — ° m
S/ AN N TN ~
B -8 U Y& %
o) = (o) a8 a8 B' %8 (rﬁ
G3 U T s Q/ E
o Y~ P | S ¢
f N
4-D9ETL | L9 / 4-G1
D10
P07
Il R~F3& Dimensional Table [ fZUnit: mm]
FEEREYE Product type 60AF 90AF 120AF
2% Number of stage 1 2 1 2 1 2
L1FB{ARAL L1 overall length 116 126 151 165.5 196 207
L3FEMREE L3 body length 57 67 713 91.8 93 104
i Output
L4HEHHE L4 output shaft length 35 40 55
L5HH#HH<Z4/E L5 output length to the shaft shoulder 30.5 36 50
L6$2H<E L6 key length 25 28 40
L7547 L7 key length to shaft end 2.5 4 5
L8 E42 L8 spigot length 3 3 4
D4 E R D4 output shaft diameter ®14h7 ®20h7 ®25h7
D54HFEE 1R D5 shaft shoulder diameter 20 »30 D40
DETENIEER D6 spigot length ®50h7 ®80h7 ®110h7
D7#8KE42 D7 body diameter D61 ®90 D115
D8ZZ2EF, 5> 75[E] D8 hole circle ®70 ®100 ®130
DY;E=%2E7, DI mounting hole »5.5 ®6.5 ®8.5
D8%2%EF, 3 #R[E D8 hole circle 62 90 0115
B14EE B1 key width 5 6 8
H14E5 H1 key height 16 225 28
G37R/MRELFL G3 center screw hole M5X15 M6X18 M10X22
85 N Input
L2 NI £ S L2 input flange length 24 33.7 48
LOEEH4MI<E L9 motor shaft length 30 40 58
L10ERIFYESR L10 spigot depth 10 10 10
D1%%E#1,537R[E D1 mounting hole distribution circle ®70 90 145
D2TENINEEAR D2 spigot diameter ®50G7 ®70G7 ®11067
D34 N4H4H#2 D3 input shaft diameter <1467 <19G7 <24G7
G1LEEMZFLXGREE G1 mounting threads X depth M4X10 MB5X12 M8X21
Q3% N\iE= Q3 input flange 160 180 1130




=
o
_|
o
Py
=
—
o)
=
Z
®
—
>
o
w
m

R RMR T %
SERVO MOTOR CORRESPONDING SIZE TABLE

W RE SR\ I% Gearbox Input

PEGT
PDG7

E}

BN EZZ=5ERBHNIIRR TR Input Flange And Servo Motor Matching Table

ChES et 12657l, tE iz 1o LECREE ehfep
Motor Power EE‘*”'R,‘_I Installation Distance| Threaded Hole Frame Aperture Stop Stop Depth Shaft Extension

(W) Motor Size A 5 5 5 = = |
T 45 M3 38 8 30 3 25

T2 46 M4 40 6 30 3 25

%0 T3 47 M4 40 8 30 3 25
T4 48 M3 42 8 30 3 25

T 45 M3 38 8 30 3 25

100 T2 46 M4 40 8 30 3 25
T3 46 M4 40 8 30 3 25

T4 48 M3 42 8 30 3 25

T 70 M4 60 " 50 3 30

200 T2 70 M5 60 14 50 3 30
T3 70 M5 60 14 50 3 30

T 70 M4 60 14 50 3 30

400 T2 70 M5 60 14 50 3 30
T3 70 M5 60 14 50 3 30

T 90 M5 80 19 70 3 35

T2 90 M6 80 16 70 3 40

750 T3 90 M6 80 19 70 3 40
T4 100 M6 86 16 80 3 35

T5 145 M8 130 19 110 6 58

T6 100 M6 86 19 80 3 40

T 100 M6 90 19 80 3 55

T2 115 M6 100 24 95 3 45

T3 115 M8 100 24 95 5 45

1000 T4 145 M8 130 22 110 6 58
T5 145 M8 130 22 110 6 70

T6 115 M8 100 22 95 5 45

T7 145 M8 130 24 110 3 55

T 115 M8 100 19 95 3 55

T2 115 M6 100 24 95 3 45

T3 115 M8 100 24 95 3 45

1500 T4 145 M8 130 22 110 6 58
T5 145 M8 130 22 110 6 70

T6 115 M8 100 22 95 5 45

T7 145 M8 130 24 110 3 55




R MR T %
SERVO MOTOR CORRESPONDING SIZE TABLE

BisANiE=5ERBHITHR FF Input Flange And Servo Motor Matching Table

BRI el L2AEi IBHE 2 flalm| WRE AR
Motor Power EEMR,‘_J— Installation Distance| Threaded Hole Frame Aperture Stop Stop Depth Shaft Extension

(W) Motor Size A 5 B 0 . ; |
T 115 M8 100 19 95 3 55
T2 115 M6 100 24 95 3 45

2000 13 115 M8 100 2 95 3 45 %
T4 145 M8 130 22 110 6 58 |
T5 200 M12 130 35 114.3 10 80 ©)
T6 115 M8 100 22 95 5 45 2
T 115 M8 100 19 95 3 55 >

2500 -
T2 115 M6 100 24 95 3 45 o)
T 130 M8 120 22 110 3 55 I
T2 145 M8 130 28 110 6 65 Z

3000 T4 145 M8 130 24 110 6 65 2
T5 200 M12 175 35 114.3 10 80 >
T7 200 M12 175 35 114.3 10 65 ,E
T 130 M8 120 22 110 3 55 m

3500 T2 145 M8 130 28 110 3 63
T5 200 M12 175 35 114.3 10 80 P09
T 145 M8 130 24 110 6 65

4000 T2 145 M8 130 28 110 6 65
T5 200 M12 175 35 114.3 10 80
T6 200 M12 175 42 114.3 10 113
T 145 M8 130 24 110 6 65

o T5 200 M12 175 35 114.3 10 80
T6 200 M12 175 42 114.3 10 113
T7 200 M12 175 35 114.3 10 65
T 145 M8 130 24 110 6 65
T2 145 M8 130 28 110 6 65

5000
T5 200 M12 175 35 114.3 10 80
T7 200 M12 175 35 114.3 10 65

ENREHEETRI TR | REmHENDREFEINT 5.

If an oil-seal is not present and the size is different, attachment of the oil-seal may correspond to special order, in some cases.
7E2) SRR, R ERANT R,

If the motor shaft is of D-cut and taper type, it corresponds to a special order.

ETEIMEEERBIT R, SEIFS | BRINSARTRER.

Out-of-standard may correspond to a special order in some cases, For details, contact us.



£
ASSEMBLY

B RE DA RIS Assembly Procedure

BFBETREARDEAR |, BRIUTRWHTRE. ARDENRISMESHE , RIEENTmI , BEDATRSTEEEE= , B, —EBEREITHE
FHEERIDIA,

If a customer personally assembles the servo motor and reducer please use the following tip. The reducer flange to which the servo motor is attached has different dimensions based
on the motor specified .Therefore,assembly may be impossible for some motor.Make sure the correct motor is specified before ordering the reducer.

1. RETEDIX Spec. In Case Of Assembling A Motor Without Key ® AE/AF B5REE
AE/AF Series Schematic Diagram
OB RN | Feahfi NG , FIZeSAETIZE TS, FRAEEEBEENTT.
Take off the rubber cap, tumn the input shaft, and match the head of the bolt to the hole of the rubber
cap. Make sure that the set bolt is loosened.
QB DIAHTFARSEENBANG (BRERTZEEIWAANEN ) . BRoTEAELD
IARFHEN.
Gradually put the motor shaft into the input shaft (Ensure that it is smoothly put in without iam.)
Be careful not to be inserted with the motor tilted.
OBDABEEEREN L , FHISEITHERIRITER. &8R!

Attach the motor to the reducer and fasten the bolt with designated fastening torque. See Table 1.

>
7))
7
m
<
o)
r
<

OFFRBERFEIR , KEEHEERNINERIZRITE, 5%
Fasten the set bolt of the input shaft with designated fastening torque wrench, etc. See Table 2.
010 O HigRiE. RETEE, = =

Put on the rubber cap. It is the end of assembling.

@ X1 Table! ]
@
LLAEELZ42 Motor Combination Bolt F5 2R Fastening Torque
(N-m) (kgf-cm)
M3 1.0 10 ®
m4 3.0 30 i)
M5 5.8 60
M6 9.8 100
M8 19.6 200
M10 39:2 400
M12 68.6 700
M16 168 1650
@ %2 Table2
[ER2i2ke Combination Bolt $5Z4H%E Fastening Torque
(N-m) (kgf-om] H .

M3 15 15 (el
M4 35 35
M5 7.1 7
M8 12 120
M8 30 300
M10 60 612

HREXDANER TG , AL EATREA—HRE, ZHROBN.

You can assemble the motor with keyway like above when take off the key. There is no risk of dislocation.



it
3R
ASSEMBLY
W REHAYZ%E Peducer Assembly
BRI RRERE LR | BEMALKEFEELERNER | (FRAERFSETRIMEENHERBIEHER. &% &

Jointing with reducerln case of jointing a reducer with the device, make sure that the combining side is plane without inconsistency, and when assemble reducer outo equipment,
ensuring assembly surface smooth and without burr. See Table 4.

@ 384 Tabled
THEAUE 242 Reducer Combination Bolt #5248 Fastening Torque
(N-m) (kgf-cm) >
M5 5.8 60 7
M6 9.8 100 I'UI')I
M8 19.6 200 <
M10 39.2 400 E
M12 68.6 700 <
M16 16.8 1650

I iE 46 HHEH Connection To The Output Shaft

JERZEIA Cautions:
1. TEGH E R a s, IBRSRT B0 eI KRk E S,

When assemble a coupling, pulley, etc. onto the output shaft,make sure that excessive axial load

In case of strongly hitting the shaft with a hammer, the shaft inlet or the inside of the reducer
may be damaged, therefore it shall be prohibited.

3. RENGESSRSHMTIRIBNERANE) , TRaSHIRENRER  REMNEARDIE
Z, Ifthe shaft or key of a coupling assembled is loosed, it may cause carbonization, so be
careful when assembling.

4, REGBGIREN  BERAEERERIEREEE.

For assembling of a coupling, fix the key with a set bolt.

EERTE R VAR,  Please adjust shaft centre carefully in connecting.

not be given to the output shaft. —
2, iBDIEREEIEIN | LA ISR A ERZ R,
=

ol



AE/AF i R AE/AF SERIES _

o~
o



AE/AF i R AE/AF SERIES _

P13



AE/AF i R AE/AF SERIES _

s
o



...EIﬂDO'IV.LVC)

BN

www.zd-motor.com »)




< MATIA

PLANETARY GEAR BOX
CATALOGUE

FRPADEEREENIRBBRAE
NINGBO ZHONGDA LEADER INTELLIGENT TRANSMISSION CO.,LTD.

Holk: ANTERESFRAT W R XHE—I%1855
Add : NO.185 1st Xinxing Road,New Industrial Zone, Cixi City, Zhejiang, China.

ERESES:

E3iE. 0574-63537377
fEE; 0574-63534879
E-mail: china@zd-motor.com

EfFESRS:

International trade department:

Tel: 86-574-63530538 Fax: 86-574-63534879
E-mail: manager@zd-motor.com

E-mail: trade@zd-motor.com

EZiFE, HiEE:

www,zd—motor.com

B RAREE R, BABTEM.

Any changes in product contents without notice.




	页 1
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16

